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1.8 [2)-~T4]-T5] ~T8] [0)] ta, —BHR KW EILEHR €W BE
HERLERE?

A. 2 B. 0 C. 4 D. 5

2. &£ 73736 % » WA [3] AW E S ) ?

A. 0 B. 2070 C. 2970 D. 3070

@) 3. 9784 Ry Bk 5 A A (A5 4 ?

A. 216 B. 226 C. 316 D. 326

4. X EBERE R A ¥ 56723kg EEBRYHEF /L o

A. 50 000 B. 56 700 C. 57 000 D. 60 000

5. — % % ko BB MAE £ T 4552 $38 000 o F )7k —38 7] 48 £ F &
o EAR ?

A. $37 499 B. $37 610 C. $38 626 D. $38 888

@) 6. & 30481 ismBd - [4) 0B [1] 85 V48 2
A. 4 B. 40 C. 100 D. 400

& T5IRE -

7. ERBTRE GBI ZRGNFAK
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* 27— = =
(a) * 2 i&i;] (/ Z2H | 2] — 28 196 A
PNFARRK S o (¥ B 2 =
GNBAKRE S B 5 Efi— —BrTAE-t=A
(b) WK ZRGNFAKRELHNA 2H= 14734 A
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HONG KONG ATTAINMENT TEST
(Pre-Secondary 1)

B ABE EBSREB
Mathematics 2§}
Primary 4 IQ&E 4%

Mock Paper 2
EitEs (2)

Time allowed for the test: 50 minutes
B BRI 5004

]
¥

Instructions:
1. This test contains two sections:

Section A: Questions 1 — 30

Section B: Questions 31 — 36
Answer ALL questions.
Write your answers on the answer sheet.
Write your name, class and class number on the answer sheet.
You may do your rough work in the blank space of this test booklet and
there is no need to rub it out after the test.
6. The use of calculator is not allowed.
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Mock Paper
il &

A railway company bought 12
new trains. There are 8 cars in
each train. If there are 52 seats in
each car, how many seats are there
in the new trains?

A. 416

B. 4472
C. 4862
D. 4992

BN BEN 12 P A7 2 A
5 2f 8 BEF o e RER
B FH 52 A8 AL 0 BN E] #T
NG A RS YA 2

A. 416

B. 4472
C. 4862
D. 4992

Peter had some marbles. He
packed these marbles into bags of
15 each. After packing, there were
14 bags of marbles and 3 marbles
left. If he repacked them into bags
of 5 each, how many marbles
would be left?

A1
B. 2
C. 3
D. 4

DA R T thdei ok
TH 15 BER—8  £E%K
A4 & AT 3 4 o ke R Al
Bt 5 BEER—C ok
KT EHOLEHK BT S Y
¥ 7

oS 0w p
I S S

A group of 12 people played
basketball together and each paid
$67. Later, one of the staff found
that he had made a mistake in
the bill and refunded $48 to the
group. How much did each person
actually paid?

A. §71 B. $63

12 A—RIAITER » BAHAT
$67 o 1% X FK B B R IARFE B4
T v iBiE $48 L] o AT
JEATE S Y ?

$60 D. §$19

i
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21. Which of the following is the 21. EFT > AW ek A M
common property of squares, TR — AL RRE ?
parallelograms and rhombuses?

A. four sides are equal A, WiEHE

B. four angles are equal B. wWAAMF

C. there is at least an acute C. mVA—MEHA
angle D. #ifFiT

D. opposite sides are
parallel

22.  After the above prism whose base | 22. # Lt l é’J v A 4 A2 R SR Dy E

is a square has been cut into two AR AR BT AT A IR —
equal parts along the dotted line, ﬁﬁl%‘ﬁ’ ?
what kind of solid is obtained?
A. triangular prism A ZAAER
B. triangular pyramid B. = A4
C. prism whose base is a C. WA
quadrilateral D. 9448y

D. pyramid whose base is a
quadrilateral

BRI HKAT DM E B 5T 2%
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35.

Number of Soccer Uniform

Number of Soccer Uniforms Sold in a Sporting Goods Store Last Week

HREHAMERE - EHEHRKNBE

50

45
40
35
& 30
W 25
o
& 20
2y
15
10
5 ]
0
Monday Tuesday Wednesday Thursday Friday Saturday Sunday
EH— EH— EH= EHry EfTh EHIR EHH
Day
BF

The above graph shows the 35.

number of soccer uniforms sold in

a sporting goods store last week.

(a) Comparing the number of
soccer uniforms sold by day,
what is the difference between
the greatest and the least
number of soccer uniforms

sold? (Give the answer only)
[2 marks]

(b) The price for each soccer
uniform was $79. What
was the total income of the
sporting goods store by selling
soccer uniforms from Tuesday
to Friday? [4 marks]

rTEBERcEESA REEG X
—ZHME BRI E o

(a) KILBEEHRRHBEETRSH
HffEz b begn T R
REEMESLZ Y ? (REF

A% [2 5]

(b) EREMHE $79 - EF A &
EERZM—_Z 2 AL B
ROGUNER ST 2 (4]
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